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int main () {

int zero;

int minus_one;

int sum;

int n;

zero = 0;

minus_one = -1;

sum = 0;

n = 10;

while (n > zero) {
sum = sum + n;
n = n + minus_one;

};

print sum;
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ident:= (0 0000000000OO0DOOO) [DOO]
const :=true | false | (0O DO0O0O) [OO)]
prog ::= dec | dec prog (00000 ]
dec ::= type ident(plist) statement [00 0 0O]
| type ident; [0 O 0O0O)]
declist ::= dec | dec declist [0 0000 ]
type ::= int | bool [O]
plist ::= type ident | type ident, plist [ 00 000)
statement ::= ident := exp; [0 00|
| while exp statement [while O]
| {declist stlist} (OO0 O0000O0O]
| 5 [O0O]
| print ezp; [print O]
| return exp; [return O]
| if exp statement else statement [if O]
stlist ::= statement | statement stlist [0 00 0]
exp ::= ident | const | exp+exp | expxexp| [O]
| exp==exp | exp>exp
| ident(explist) | (exp)
explist ::= exp | exp,explist [0 0 00O
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int £ (int x) {
int result;
if (x==0) result = 1;
else result = x * f(x+(-1));
return result;
}
int main () {
print £(5);
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f (int x) {



}

int main () {
£(5);
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int x;
int foo (int y) {

int z;
{int w; ...}

}

int main () {
...fo0(10)
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3.3 0000 (dynamic binding)D 0000 (static binding)
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int x;

int g (int y) {
return x + y;

}

int £ () {
int x; x = 10;
return (g(20));

}

int main () {

x = 5; print £Q);
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